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] Calculer une longueur avec le théoreme de Thales \ * * \ \ \

Calculer la longueur demandée.

1) | (HG)//(1F) 2) | (sV)//(TR)
I G HE =24 c¢cm T V. VU=4cm
E U
ElI =9 cm UR =6 cm
H S
F FE =6 cm RT =9 cm
R
FG =7 VS=7
3)| wuy//vv) 4) | (m)//arL)
L
v w WX =3 cm M JK =5 cm
X K
XY =4 cm KL =6 cm
U
1% VY =6 cm J I LI=9cm
WU =7 JM = 7
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1) (HG)//(IF) 2) (SV)//(TR)
I a HE =24 cm T V. VU=4cm
E U
EI =9 cm UR =6 cm
H S
FE =6 cm RT =9
F R cm
3) wu)//(YV) 4) (MJ)//(IL)
L
174 w WX =3 cm M JK =5cm
X K
XY =4 cm KL =6 cm
U
v VY = 6 cm J I LI=9cm
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